Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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AF orn the 1% principles arrive at the rate for below mentioned items of works.
- Providing and constructing PCC 1 : 3 : 6 for foundation bed
Providing constructing BBM for super structure incm 1 : 6

J"3', Wgssmg data, if any, may be smtab!e ass:'med

:)\

The accompanymg" Fig:Ql. Shows the details of three rom’ﬂ.h nal] residential unit. Prepare
detailed estimate for’ He]ow mentloned items or works bv “(,FNTRE LINE METHOD”.

Centre line calculation am, number of junctions. (08 Marks)
Earthwork excavation for fcmnadtlon (08 Marks)
PCC 1:3: 6 bed concrete for fo»undatxon (04 Marks)
UCR masonry for footlng/foundaf1 incm 1 : 6 (10 Marks)
3 mt thk. BBM for super structure:. (10 Marks)
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Write detal‘led techmcal specification for following items :
What is :*}}:}f‘(;ﬁlcrnltlon‘7 What is special specification?

Prov1du10 and constructing. BBM for super structure incm [ : 4.
Prov1d1r1g #nd laying plastering to internal walls in cm 1 : 6.

Providing and constructing 20 mm thk external plaster in cm 1: 4. (15 Marks)
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Explain. briefly the types of estimate. L) (10 Marks)
Annual. x\_cpgu maintenance, annual maintenance AB and AM. (05 Marks)

The steel 4aaflty is to be computed diameter wise from following data‘;‘fif

Size of colurnh footing 1.5 x 1.5m in plan

Steel provided: _f"r footing — 10mm X 15¢m c/c both ways

Cross section of ¢olumn — 30em x 30m

Main reinforcement.of column—4 —20mm R 4 — 16mm®

Ties 8mm® @ 10 ey G,'C S

Height of column — Smt AN

Weight of 8mm — 4kg/mg >
10mm — 6 kg/mt SN
16mm — 1 6kg/mt 2,
20mm — 2.5 kg/mt.
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(15 Marks)

Calculate the quantity of earth WO}‘I( or 40()mt Jlength for a portion of road in a uniform
ground the height of bank at two ends"jb'egm 7 and 1.4. The formation width is 7.0mt and
side slope 2 : 1 (horizontal to vertical). As$ume that there is no transverse slope. Calculate
the quantity using method —1. g B (15 Marks)

Fig.Q7 shows that details of septic_ {a,m{ prepals the estlmate for following items of work.
Earthwork excavation for septm‘tan}\; -

PCC 1:3: 6 for bed concrete
BBM forwallincm 1 : 4

RCC 1:1.5:3 forslab fog.{‘ ptfi.é tank. iy (15 Marks)
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